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A knot diagrarrﬂ cg Clo Cr Ci1 C2  Cg
Ideals for irreducible component#ﬂ)f Xpar

It =W +u® 4+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIt = <’u,36

(i) Arc colorings

ar =

us—u6+3u4—2u2—|—1>

+ud® 4o+ 2u— 1)

—u'? + w7 — 6ut® + 5utd — 11wt + 7w —6u” + 20 —ud +u

— 21wt + 2249 — 2007 + 12u® — 5ud + 2u>

ay ud + 2u?t
—u + 2017 — 8ul® 4 12413
a9 =
—ut0 4 u® — 4wl + 3ut —3ut + 1
as = \ 2 — 2410 + 448 — 6ub + 3u* — 2u?
—u?t +2ut? + -+ 6ud —u
as = uB =3+ 2wt u
—u?t +2ut? + -+ 6ud —u
as = \ u? -3+ +2u¥+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?* — 4433 + 12032 + 160! — 60u30 — 68u?® + 136u>® +
180u?” — 352u?6 — 420u? + 612u2* + 780u?® — 1052u?? — 1232u?" + 1408u2° +
1624u'? — 174408 — 1804u'™ + 1796u'6 4 1644u'® — 1644u'* — 1232u'3 4 1288u!? +
704utt — 852ul0 — 2961 + 456u® + 44u” — 184u’ + 44u® + 40u* — 36u> + 12u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w3 w4 —du—1
C2,Cq W11+ +6u+1
€3, Co u -y 4+ —2u—1
Co w3 — w4 .. — 366u — 97
€78, €10 WO+ Tu® - Bu 1
C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs 30— 11y . —6y+1
2,4 Y30 4+ 29y%° .. — 62y + 1
€3,C9 YO =Ty 6y + 1
C6 y?8 17y + ... — 13870y + 9409
C7,C8,C10 y30+45y35+714y+1
C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = 0.855468 4 0.4785031

—1.79064 — 4.120691

—14.4783 4 7.68041

u = 0.855468 — 0.4785031

—1.79064 + 4.120691

—14.4783 — 7.68041

u = —0.885209 + 0.5889051

4.26116 + 3.380211

—6.36942 — 4.061271

u = —0.885209 — 0.5889051

4.26116 — 3.380211

—6.36942 + 4.061271

u=0.910885 + 0.5688981

3.52152 — 9.061761

—8.19420 + 9.303061

u = 0.910885 — 0.5688981

3.52152 4 9.061761

—8.19420 — 9.303061

u = —0.612613 + 0.6940301

5.14913 + 1.385521

—3.93165 — 2.608541

u = —0.612613 — 0.6940301

5.14913 — 1.385521

—3.93165 + 2.608541

u = —0.740711 + 0.5360491

1.42228 + 2.053011

—4.86610 — 4.829501

u = —0.740711 — 0.5360491

1.42228 — 2.053017

—4.86610 + 4.829501

u = 0.568507 4 0.6995941

4.63406 + 4.350571

—4.96741 — 3.004051

u = 0.568507 — 0.6995941

4.63406 — 4.350571

—4.96741 + 3.004051

u = —0.882589 4 0.1534711

—0.44906 + 4.792811

—14.2901 — 6.90191

u = —0.882589 — 0.1534711

—0.44906 — 4.792811

—14.2901 + 6.90197

u= 0.835861 + 0.2258021

—0.001943 + 0.3069011

—12.89345 4 1.587551

u= 0.835861 — 0.2258021

—0.001943 — 0.3069011

—12.89345 — 1.587551

u = —0.854609

—4.25142

—21.1240

u = —0.905500 + 0.8881407

6.73510 + 0.052421

—9.91031 + 1.115381

u = —0.905500 — 0.8881401

6.73510 — 0.052421

—9.91031 — 1.115381

u = —0.942056 4 0.8727131

6.61933 + 6.458851

—10.23279 — 5.880591

u = —0.942056 — 0.8727131

6.61933 — 6.458851

—10.23279 + 5.880591

u=10.929633 + 0.8923651

10.03410 — 3.294111

—3.98637 + 2.433041

u= 0.929633 — 0.8923651

10.03410 4 3.294111

—3.98637 — 2.433041

u = —0.901015 + 0.9221807

13.3053 — 5.09361

—5.21713 + 2.794411

u = —0.901015 — 0.9221807

13.3053 + 5.09361

—5.21713 — 2.794411

u=0.909275+ 0.9204391

14.07570 — 0.946151

—3.96028 + 2.123971

uw=0.909275 — 0.9204391

14.07570 + 0.946151

—3.96028 — 2.123971

u=0.962084 4 0.8930221

13.9035 — 5.73291

—4.26372 + 2.536121

u= 0.962084 — 0.8930221

13.9035 + 5.73291

—4.26372 — 2.536121

u = —0.967629 4 0.8878901

13.0885 + 11.76071

—5.64793 — 7.430791




Solutions to I}

V=1 (vol + /=1CS)

Cusp shape

u = —0.967629 — 0.8878901

13.0885 — 11.76071

—5.64793 + 7.430791

0.484510 + 0.4694601

—0.731880 + 0.3518951

—10.65376 — 0.668931

0.484510 — 0.4694601

—0.731880 — 0.3518951

—10.65376 4 0.668931

0.043246 + 0.5490531

2.46542 — 2.715641

—4.42006 + 3.229891

0.043246 — 0.5490531

2.46542 4 2.715641

—4.42006 — 3.229891

0.530314

—0.709168

—14.3100




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs5 O ud 4 —du—1
C2,Cy WO+ 110+ 6u+ 1
c3,Cy w3 — P —2u—1
6 u® — 4. — 366u — 97
C7,C8,C10 WO LT by 6u 1
C11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1,Cs YO — 11y 4+ — by + 1
C2,C4 Y2+ 29y% . — 62y + 1
c3,Cy O — Ty — 6y + 1
C6 v + 17y + .- — 13870y + 9409
c7,08,2? 30 £ 45y ..~ 14y + 1




